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 المدموع (ن 2) التمريه الأول
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 (ن 575) التمريه الثالث

 

 المدموع الدزء الأول

1  . 575 575 

  .أ .  2 
1

0 ln 2
2

g    :5725 ؛                      lim 0g x
 

  :57.5  
1 

   ب.  2
0

 
 x  

 - 'g x  :575 

5 
 

1
ln 2

2
  

 g x  

 575 

: وستىتح مه الددول أن  .  3 0 ; 0x g x    :575 575 

 .أ .  4
 

 

2

3

2
"

1

x

x

e
g x

e





؛     57.5:   0 ; " 0x g x      :5725 

 575: استىتاج التقعر  175

 ب.  4 
1

' 0
4

g


   :575 ؛ إوشاء C  :1  
175 

  الدزء الثاوي

1  . 
xtوضع  e  ؛ إذن 

 
0

ln 1
lim lim 1

x t

t
f x

t 


  : 1  

1 

 .أ .  2
  

 ln 11
'

1

x

x x

e
f x

e e


 


   :1 

175 
استىتاج  

 
; '

x

g x
x I f x

e
    :575  

 ب.  2 0 ln 2f    :5725   

175 

0
 

 x  

 - 'f x  :575 

1 
 

ln 2  

 f x  

 
استىتاج أن   ln 2 1f x  :57.5  

 

 
 (ن 375) التمريه الرابع
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